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Converting Decimal to Binary (B)

Write each decimal number as a binary number.

Decimal = 7
Binary =
Decimal = 206
Binary =
Decimal = 758
Binary =
Decimal = 977
Binary =
Decimal = 1360
Binary =

10.

Decimal = 65
Binary =
Decimal = 378
Binary =
Decimal = 251
Binary

Decimal = 123
Binary

Decimal = 2222
Binary =
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Converting Decimal to Binary (B) Answers

Write each decimal number as a binary number.

Decimal = 7
Binary = 111
Decimal = 206

Binary = 11001110

Decimal = 758
Binary = 1011110110

Decimal = 977
Binary = 1111010001

Decimal = 1360
Binary = 10101010000

Decimal = 65
Binary = 1000001

e

6.

¥ 123
111011

10 =222

Binary = 100010101110
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Converting Decimal to Binary (C)

Write each decimal number as a binary number.

Decimal = 9
Binary
Decimal = 356

Binary =

Decimal

Binary

Decimal
Binary

Decimal = 334
Binary =

Decimal = 4399
Binary =
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Converting Decimal to Binary (C) Answers

Write each decimal number as a binary number.

Decimal = 9
1001

Binary

Decimal = 356
Binary = 101100100

Decimal = 196
Binary = 11000100

Decimal = 2714
Binary = 101010011010

2

Decimal = 99
Binary = 1100011

Decimal = 794
Binary = 1100011010

Decimal = 449
Binary = 111000001

Decimal = 334
Binary = 101001110

Decimal = 4399
Binary = 1000100101111
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Converting Decimal to Octal (A)

Write each decimal number as an octal number.

Decimal = 6
Octal =
Decimal = 252
Octal =
Decimal = 386
Octal =
Decimal = 130
Octal =
Decimal = 7757

Octal =

10.

Decimal = 97

Decimal = 196
Octal =

Decimal = 1656
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Converting Decimal to Octal (A) Answers

Write each decimal number as an octal number.

Decimal = 6 %

Octal = 6

Decimal = 252 A Decimal = 196
Octal = 374 Octal = 304
Decimal = 356 % Decimal = 179
Octal = 602 Octal = 263
Decimal = 130 % Decimal = 895
Octal = 202 Octal = 1577
Decimal = 7757 10 Decimal = 1656

Octal = 17115 Octal = 3170
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Converting Decimal to Octal (B)

Write each decimal number as an octal number.

2

Decimal = 9 Decimal = 20
Octal = Octal =
Decimal = 753 * Decimal = 531
Octal = Octal =
Decimal = 941 % Decimal = 179
Octal = Octal =
Decimal = 255 & Decimal = 242
Octal = Octal =
Decimal = 5720 10 Decimal = 5271




image12.jpg
Converting Decimal to Octal (B) Answers

Write each decimal number as an octal number.

Decimal = 9 & Decimal = 20
Octal = 11 Octal = 24
Decimal = 753 -

Octal = 1361 Octal = 1026
Decimal = 941 % Decimal = 179
Octal = 1655 Octal = 263
Decimal = 255 % Decimal = 242
Octal = 377 Octal = 362

Decimal = 5720
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Converting Decimal to Octal (C)

Write each decimal number as an octal number.

Decimal = 1
Octal =
Decimal = 874
Octal =
Decimal = 906
Octal =

Decimal = 6536
Octal =

2

10.

Decimal = 525
Octal =
Decimal = 981
Octal =

Decimal = 7940
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Converting Decimal to Octal (C) Answers

Write each decimal number as an octal number.

Decimal = 1 & Decimal = 71
Octal = 1 Octal = 107

Decimal = 874 Decimal = 525
Octal = 1552 Octal = 1015
Decimal = 906 % Decimal = 981
Octal = 1612 Octal = 1725
Decimal = 152 % Decimal = 205
Octal = 230 Octal = 447
Decimal = 6336 10 Decimal = 7940

Octal = 14610 Octal = 17404
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Converting Decimal to Hexadecimal (A)

Write each decimal number as a hexadecimal number.

Decimal = 5
Hexadecimal =

Decimal = 528
Hexadecimal =

Decimal = 761
Hexadecimal =

Decimal = 605
Hexadecimal =

Decimal = 4696
Hexadecimal =

2

Decimal = 50
Hexadecimal =

Decimal = 860
Hexadecimal =

Decimal = 389
Hexadecimal =

Decimal = 117
Hexadecimal =

Decimal = 9400
Hexadecimal =
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Converting Decimal to Hexadecimal (A) Answers

Write each decimal number as a hexadecimal number.

Decimal = 5
Hexadecimal = 5

Decimal = 528
Hexadecimal = 210

Decimal = 761
Hexadecimal = 2F9

Decimal = 605
Hexadecimal = 25D

Decimal = 4696
Hexadecimal = 1258

2

Decimal = 50
Hexadecimal = 32

Decimal = 860
Hexadecimal = 35C

Decimal = 389
Hexadecimal = 185

Decimal = 117
Hexadecimal = 75

Decimal = 9400
Hexadecimal = 24B8
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Converting Decimal to Hexadecimal (B)

Write each decimal number as a hexadecimal number.

Decimal = 9 =

Hexadecimal =

Decimal = 939
Hexadecimal =

Decimal = 380
Hexadecimal =

Decimal = 412 =
Hexadecimal =

Decimal = 3155
Hexadecimal =

10

Decimal = 93
Hexadecimal =

Decimal = 694
Hexadecimal =

Decimal = 442
Hexadecimal =

Decimal = 230
Hexadecimal =
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Converting Decimal to Hexadecimal (B) Answers

Write cach decimal number as a hexadecimal number.

2

Decimal = 9 Decimal = 93
Hexadecimal = 9 Hexadecimal = 5D
Decimal = 939 * Decimal = 604
Hexadecimal = 3AB Hexadecimal = 2B6
Decimal = 350 % Decimal = 442
Hexadecimal = 17C Hexadecimal = 1BA
Decimal = 412 % Decimal = 230
Hexadecimal = 19C Hexadecimal = E6
Decimal = 3155 10 Decimal = 7260

Hexadecimal = C53 Hexadecimal = 1C5C





image14.jpg
Converting Decimal to Hexadecimal (C)

Write each decimal number as a hexadecimal number.

Decimal = 9
Hexadecimal =

Decimal = 729
Hexadecimal =

Decimal = 320
Hexadecimal =

Decimal = 1048
Hexadecimal =

2

Decimal = 30
Hexadecimal =

Decimal = 899
Hexadecimal =

Decimal = 151
Hexadecimal =
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Converting Decimal to Binary (A)

Write each decimal number as a binary number.

Decimal = 3
Binary =
Decimal = 607
Binary =
Decimal = 582
Binary =
Decimal = 623
Binary =
Decimal = 1109

Binary =

2,

Decimal = 55
Binary =

* Decimal = 486
Binary =

& Decimal = 606
Binary =

% Decimal = 441
Binary =

10- " Decimal = 8634
Binary =
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Converting Decimal to Binary (A) Answers

@

Write each decimal number as a binary number.

Decimal = 3
Binary = 11
Decimal = 607

Binary = 1001011111

Decimal = 582
Binary = 1001000110

Decimal = 623
Binary = 1001101111

Decimal = 1109
Binary = 10001010101

o

Decimal = 55
Binary = 110111

Decimal = 486
Binary = 111100110

Decimal = 606
Binary = 1001011110

Decimal = 441
Binary = 110111001

Decimal = 8634
Binary = 10000110111010




